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Q. T3 U G&AT T AT TH
AT 6 0.07 & FUaL g al
3T AT BT

Q. If half of one number is

2 )@O@ab 0.07 of another
? gmber; then tk@ir ratio will
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Q@@ T TTH 37T
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Q. If Rs. 210 is divided
between Ram and
Shyam in the ratio 7 :

, th ey (in Rs.)
receive 1yéplg’oth of
them regpggtively will
be 147

c) 140, . |
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Q. 7T a:b = 2:3 3T bic = 4:5, A1 Question
(a+b) : (b+c) &-
Q. Ifarb = QQ?»%Jd_b ;”S: ~then

(a+b) : (b+ce)_i<é =
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Q dld?rq F TE=ITT a,b,C
QC!“SG’(LSZ 2 “ 2a— 3b+5c

k T HTA %
[_20 Q. For three non-zero real

— numbersab0|f—=—=Z:
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Q. T g ARHSRER
Rt e et i e
T AT 3:2 4TI 40 31
&t & S & AT 4: 3
2l TAT| TET sl F&IT
ELGUR LN

Q. In a religious
function, the ratio of the
number of females and

(Q)al@% was 3:2. Zl;)f)le
rao was d;3when 40

(apreovomen argyed.
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Q. 7w a:b=4:5, b:c=6:9, c:d=15:19,

ara:b:c:d z:
Q. Ifa@%bﬁp—é‘/\,, :d=15:19,
N
then d:bre:d sk 2 3 N2
endg)'&*' 8:10:15:19
= }3 — 10:11:15:1
$60 Loy
/<58:9:1%19
(d)
19:15:6:8

https://t.me/mahendrasmissionteaching




fPT2ToT CTET/STET 2023  [UPTET]

. , Q. I H&= %%58@
- &:ﬁ wahl @H{AI\QQ‘{M493W
9716

(r:c = m_gz;| FT ST
<—— 9167 GEIT T T
G:b:c=4:90¢ ¢

Q The sum of three numbers is 58.
29 = SR The ratio of the first number to the

1 second number IS 4:9 and that of
= O the sec %Eér@ét%%he third
nheé ', 16 m of the first
20 = 9 XD g 1)

3 (Cjs28
(d) 50

number
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A Q. 7 & | -7 A7 TAT &2 /\\E‘%/
- 0 C QWW c,d HATATAT &, T

Caxd=b xc)(
@W%a b,c,d HHTTATAT &
Q :Q/e’ﬁwlgtucllabohl Og@hl-ll'lql %ba

A (N STHE BT Sateent i T
MGPect?
(a) If the quantities a,b,c,d are
proportional, then axd=b xc
(b) If a,b,c,d are proportional, then ac=bd
(c) The proportionality a:b is inversely
proportlonal to b: ah ttps:, //t.me/mahendrasmissionteaching
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( @ @34omc|ldoqlrhqlA Baw C#
2

z ‘1 (1/2) (1/3):(1/4) % AT | 1T ST
T, %(r@‘lﬂdl@4°h31@%|dﬁ'

L N EAERINRUREEES o At
% _‘DQQ (R T STTH BaTT7?

(1/4) b(tg)b,@(,nm;_ake it was
1the ratig2: 3 : 4. Who got

(c) A, Rs.

httpl;;@’t.me/mahendrasmissionteaching




PV 2TST CTET / STET 2023 [TET]

Q. 7t P:Q¥5:8, Q:RE1DL7 7t R:S =14:15 %, ar

P:S &1 #mE {Hll-
Q.IfP ; and R:S= 1415, then
the v /@ v“fé) ;

(c) 1:3

(d) 1:4

https://t.me/mahendrasmissionteaching




 iPT2TST CTET / STET 2023 TET]

(a) 9/25
+4b)

18/25

(c) 7/18

(d)
17/25

https://t.me/mahendrasmissionteaching




JITTST CTET/ STET 2023  Practice

Q. TF T H 100}3%"@59”
[e /@ — AC@ At al o (1/4)F =+ @I(I@I(%
THA H TSl T ASTRIT H FT
[ AT 27
Q. In a school 10% of the
boys are same in number
= % as (1/4) of the girls. What

is the ratf®) 8f:boys to girls in

B
> =
R

Gy :CSQ> the schebl?
(b) 2 :

%(;4:3
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Question

Q{2 HTeT 20 94T 3 15
o [Dam Gocm
@2% '<5 H1eT 40 THT o &= T 9T

%@4}/ - 44 4 between 2 meters 20 cm,
726 nd 15 meters@3cm?
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) — QD6 @3 5 %ﬁmQuestlon
o [EXFE e i, 5 s 8 0 e
< 07 gyt T ST AT 272

—) @)foé) Q. What is the ratio of the
@ i mean [ proportional between
= [(8x18]) < 1.6@nd 3.6 and the third
> jfe]o \|aI OK@)agna%’?

(b) 5:16

2_  n e
AxgS . RxR g (6) 3:16
oo (R/&H(d)415
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Q. F&AT 13, 31 X 52 HRHPFHon

(5352 C) wamr &

Y Q. The fourth proportional to the
N = E\xg{ imbers :31 an(:%a’5521|§z'1
3 [To0N (b) 104
P (c) 114
TN =3 x4 P ) 124
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Q(2,5,8 % =T FaTAT v 6,8,9 % =puestion
HHTTATAT T STITT FIT 87

Q. What is the ratio of the fourth proportional of

256 48 Bttt pténling) ol 7
<5><  PAg) (b) 5:3

(c) 3:4

5:4
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Q. TF T F A=A 3T TEHOR
) 37:43 g1 TiQ AT 3fIX

STPAT T F&AT & o1 &7 Fa¥ 360
/@ﬁ;é/ g, dl VISOhI.Eﬁ' H&T FTq Eﬁﬁl‘m_
Q. The ratio of boys and girls in a
o 1= @ school is 37:43. If the difference

between the Q f boys and

girls-is 360, %51 ﬂggothe number of

8 b [}
_ \\@ (c) 2580
(d) 3120
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MoP R Q. U EEmes 6, S @
‘ Gﬁ‘q'ﬁﬁrrr@ﬂ‘ﬁohl AT 5:7:8 2

(13T FHLT: 40%, 50% TAT 75%
qus; FT T TEAT &, AT SATITT 1

»|

“Leﬁ Q. The ratio of seatsfor -
Mathematics, Physics and Biology

3 in a 0pig 5(7:8. It is proposed to
A 2r 2 Pis
N\ 2 /\ |ncrea§>tgefa8seats by 40%, 50%

and 7

ctively, what will be
the ne irgi 8
" Fls Ael/
none of }hese
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)@/79 16 Sop 25p Q. UE S H 3 AT T
5 QDo FTIA(S0TH, 2597 3:8:20 F
3 8 2
—Ze Tt AT 5| T 468 T

— Q.Ina bag ere are 3 types
Z \/xg, of coins 1 {\HS paisa, 25
B | mﬁu of 3: 8: 20.
QQ). 5’} lue is 468 Rs.
umber of
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Q. 3T FEITAT T AT 3: 5%’
e 4% § 9 T STy SIGE
GEATAT T ATATT 12:23 B ST
2| T §ET ¢

Q. Two numbers are in the
ratio 3 : 5, if 9 is subtracted

fg ch, the ratio of the new

i&? pecomes 12 : 23,
umber sty |

()49

(d) 55
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Q. T & T 702 F7 7w, Thor Areshany
(1/3):(1/4):(1/6) & ATITT H & & TT™

3:4:6 % AUTT | i f<FT 7| FaE SATE
o SfIT TohaTeIT RTIaT gar?
Q. By mistake, instead of dividing % 702

among Ram, Ramesh, and Naresh in
the ratio (1/3):(1/4):(1/6) , it was divided

in the ratio of 3:@§ﬁ%r@1@@mg,{he

ost-and by ho ch?
i E'ZE%) \(agg f‘fm Z 158/

Ramesh X158

(c) 7<er 168/ Naresh

168
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